S4(4) (mod 2)
blocks | defect matrix
G 1 8 26 x 15
2 0 2561 = X25, P16
Block 1: | o1 @2 @3 @4 @5 ©6 @7 93 Y9 Yo P11 P12 P13 P14 Pis
11 = X1 1 . . . .
181 = x2 2 1 1 1 1 .
3=y 2 1 1 1 1 . 1
342 = x4 2 1 1 1 1 1 .
50i=xs| 2 1 1 1 1 1 1 .
511 = x¢6 3 . 1 1 2 1 . 1
5l = x7 3 1 . 2 1 . 1 . 1
5ls=ys| 3 2 1 . 1 1 1.
514 = x9 3 1 2 1 . 1 . 1 . .
8i=xw0| 5 1 1 3 3 . 1 11
852 = X11 5 3 3 1 1 1 . 1 1 . .
1531 = x12 9 3 3 3 3 1 1 1 1 1 1 .
2041 = x13 8 4 3 2 4 1 1 2 . . 1 . 1
04 =y14| 8 3 4 4 2 1 1 . 2 1 1 .
W043=yi5| 8 4 2 4 3 1 1 1 . 2 . o1
2044 = x16 8 2 4 3 4 1 1 . 1 . 2 1 .
2251 =x17| 9 4 2 4 4 1 1 1 . 2 1 . 1
2252 = 18 9 2 4 4 4 1 1 . 1 1 2 . 1
255=y19| 9 4 4 4 2 1 1 1 2 1 . 1 .
2254 = X20 9 4 4 2 4 1 1 2 1 . 1 1 .
2551 = xo1 | 11 4 4 5 4 1 1 1 1 2 1 . 1
2552 = x22 | 11 4 4 4 5 1 1 1 1 1 2 . 1
2553 = x23 | 11 4 5 4 4 1 1 1 2 1 1 1 .
255 =X04 |11 5 4 4 4 1 1 2 1 1 1 o1
3401 = x26 | 12 5 5 4 4 1 1 2 2 1 1 1 1 . .
3402 = xo7 | 12 4 4 5 5 1 1 1 1 2 2 1 1
©1 i i1 0o = 164
Y2 = 1 _
- p10 = 165
Y3 = 2 _
I p11 = 16g
Y4 = 3 — 64
- 4 P12 = 1
(23 4 _
_ p13 = 64
we = 161 B
_ p1a = 0643
o7 = 162 o5 = Gdy
ps = 163



